
L6(2).2 (mod 5)

blocks defect matrix

G : 1 1 5× 4
2 1 5× 4
3 1 5× 4
4 1 5× 4
5 1 5× 4
6 1 5× 4
7 1 5× 4
8 0 12401 = χ7,0, ϕ7,0

9 0 12402 = χ7,1, ϕ7,1

10 0 27901 = χ8+, ϕ8+

11 0 83701 = χ10+, ϕ10+

12 0 43401 = χ12,0, ϕ12,0

13 0 43402 = χ12,1, ϕ12,1

14 1 5× 4
15 0 64801 = χ15,0, ϕ15,0

16 0 64802 = χ15,1, ϕ15,1

17 1 5× 4
18 0 97651 = χ18,0, ϕ18,0

blocks defect matrix

19 0 97652 = χ18,1, ϕ18,1

20 0 195301 = χ19+, ϕ19+

21 0 195302 = χ21+, ϕ21+

22 0 195303 = χ23+, ϕ23+

23 0 195304 = χ25+, ϕ25+

24 0 99201 = χ27,0, ϕ27,0

25 0 99202 = χ27,1, ϕ27,1

26 0 223201 = χ28+, ϕ28+

27 0 125551 = χ30,0, ϕ30,0

28 0 125552 = χ30,1, ϕ30,1

29 0 130201 = χ31,0, ϕ31,0

30 0 130202 = χ31,1, ϕ31,1

31 0 396901 = χ41+, ϕ37+

32 0 396902 = χ43+, ϕ39+

33 0 396903 = χ45+, ϕ41+

34 0 502201 = χ47+, ϕ43+

35 0 585901 = χ52+, ϕ48+

36 0 669601 = χ56+, ϕ50+

Block 1: ϕ1,0 ϕ6,0 ϕ32,1 ϕ36,0

11 = χ1,0 1 . . .
7441 = χ6,0 1 1 . .

136714 = χ33,1 . . 1 .
188161 = χ40,0 . 1 . 1
317441 = χ54,0 . . 1 1

ϕ1,0 = 11
ϕ6,0 = 7431
ϕ32,1 = 136712
ϕ36,0 = 180731

Block 2: ϕ1,1 ϕ6,1 ϕ32,0 ϕ36,1

12 = χ1,1 1 . . .
7442 = χ6,1 1 1 . .

136713 = χ33,0 . . 1 .
188162 = χ40,1 . 1 . 1
317442 = χ54,1 . . 1 1

ϕ1,1 = 12
ϕ6,1 = 7432
ϕ32,0 = 136711
ϕ36,1 = 180732



Block 3: ϕ2,0 ϕ4,0 ϕ14,0 ϕ45,0

621 = χ2,0 1 . . .
5881 = χ4,0 1 1 . .

59521 = χ14,0 . 1 1 .
273423 = χ49,0 . . . 1
327681 = χ55,0 . . 1 1

ϕ2,0 = 621
ϕ4,0 = 5261
ϕ14,0 = 54261
ϕ45,0 = 273421

Block 4: ϕ2,1 ϕ4,1 ϕ14,1 ϕ45,1

622 = χ2,1 1 . . .
5882 = χ4,1 1 1 . .

59522 = χ14,1 . 1 1 .
273424 = χ49,1 . . . 1
327682 = χ55,1 . . 1 1

ϕ2,1 = 622
ϕ4,1 = 5262
ϕ14,1 = 54262
ϕ45,1 = 273422

Block 5: ϕ3,0 ϕ3,1 ϕ35,0 ϕ35,1

2171 = χ3,0 1 . . .
2172 = χ3,1 . 1 . .

273421 = χ34+ . . 1 1
138881 = χ38,0 1 . 1 .
138882 = χ38,1 . 1 . 1

ϕ3,0 = 2171
ϕ3,1 = 2172
ϕ35,0 = 136717
ϕ35,1 = 136718

Block 6: ϕ5,0 ϕ16,0 ϕ34,1 ϕ47,1

6511 = χ5,0 1 . . .
91141 = χ16,0 1 1 . .
136712 = χ32,1 . . 1 .
364562 = χ58,1 . 1 . 1
416642 = χ60,1 . . 1 1

ϕ5,0 = 6511
ϕ16,0 = 84631
ϕ34,1 = 136716
ϕ47,1 = 279932

Block 7: ϕ5,1 ϕ16,1 ϕ34,0 ϕ47,0

6512 = χ5,1 1 . . .
91142 = χ16,1 1 1 . .
136711 = χ32,0 . . 1 .
364561 = χ58,0 . 1 . 1
416641 = χ60,0 . . 1 1

ϕ5,1 = 6512
ϕ16,1 = 84632
ϕ34,0 = 136715
ϕ47,0 = 279931



Block 14: ϕ13,0 ϕ13,1 ϕ33,0 ϕ33,1

45571 = χ13,0 1 . . .
45572 = χ13,1 . 1 . .
273422 = χ36+ . . 1 1
182281 = χ39,0 1 . 1 .
182282 = χ39,1 . 1 . 1

ϕ13,0 = 45571
ϕ13,1 = 45572
ϕ33,0 = 136713
ϕ33,1 = 136714

Block 17: ϕ17,0 ϕ17,1 ϕ46,0 ϕ46,1

91143 = χ17,0 1 . . .
91144 = χ17,1 . 1 . .
546841 = χ50+ . . 1 1
364563 = χ59,0 1 . 1 .
364564 = χ59,1 . 1 . 1

ϕ17,0 = 91141
ϕ17,1 = 91142
ϕ46,0 = 273423
ϕ46,1 = 273424


